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dHdBESII=| 1,034,999 0 0 0 0 011,009,139 0 25,860 0
Met2telJl=| 1,770,554 796,000 0 0 0 0| 968,554 0 6,000 0
s 2 & 1
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bl o] =2 0 0 0 ﬂ gmﬂ /Hgl 0 0 0
2 = =z 0 0 o= 3 5 0 0 0
oo = 0 0 0ol = 2 ol 0 0 0
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B o4 oY 0 0 02 B X & 0 0 0

_12_




SIAME ¢ 2022
Ol &tRb2= © =20il4t
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TeE
200 NIel= 24,000 0 24,000
210 FAHANI2l 24,000 0 24,000
216 OlXt==Z 24,000 0 24,000
216-01 S3W SO0 X 24,000 0 24,000
OMXISO0I k=
24,000,000& = 24,000
700 E8-ASHUFHCH 13,608,081 3,791,778 9,816,303
710 2823 5,000,000 0 5,000,000
714 OIXIZ3al= 5,000,000 0 5,000,000
714-01 KIXIZ 3= 5,000,000 0 5,000,000
OUIxI=al=
5,000,000,000& = 5,000,000
720 LIS HeH 8,608,081 3,791,778 4,816,303
722 & =S20l+~= 8,608,081 3,791,778 4,816,303
722-01 B3 8,608,081 3,791,778 4,816,303
OL eS| H|
5,000,000,000& = 5,000,000
OYHAFHIGRAAMNSEL S
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OJ | ZMS 2RSS ANOH X2
22| SE3
315,570,000& = 315,570
OXIot=2e|SE3H
238,359,000& = 238,359
OBTEYBHIAHKIES S| A
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OEAIIL=SHIIS2EELIH
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Al 10,024,000 0 0 0 10,024,000 0 3,608,081
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= o El -
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o o~ = 0 0 0/3 o = & 3 0 0 0
S
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700 EM-USHUE I H 965,998 1,034,066 268,068
710 2823 965,998 1,034,066 68,068
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20164 Al 1,073,686 713,200 0 0 0 209,774 150,712
20179 16,165 0 0 0 0 16,165 0
20188 = 14,500 0 0 0 0 14,500 0
20198 &= 81,131 64,600 0 0 0 16,531 0
20209 & 83,751 64,600 0 0 0 19,151 0
20219 & 10,700 0 0 0 0 10,700 0
20228 &= 7,700 0 0 0 0 7,700 0
Al 1,287,633 842,400 0 0 0 294,521 150,712
He AR
H o o
= o
AEE | e |USHY | ST jemedu| A2 | A2 | 8 | @@
AL | At |2 0123 | RElEAs | Ra3aE | XS
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20228 &= 75,000 75,000 0 0 0 0 267,300
Al 837,796 837,796 0 0 0 0 449,837
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GlAR S @ =0A
TE eI
O NS XEsS
CERE
= =2 Xl = Al =
g =2 | oo 52 | % = | NsY |®HcKsY| =2
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= A
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= A
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o _=_ = 0 0 ol = = 0 0 0
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SIAHAE 20224
Ol &EXb= 0 201 &
SIHPE  XED2
@ >
(e &3)
X} 1 St ==} A O|OH I‘;IL‘;:'E = 2} A = (o}
o"ltll-'%'ﬁ TeE _J'K_OIOH =i t_l-gLI'l—\
200 Mol 15,000 16,394 A1,394
210 BAFAN L+ 10,000 11,394 A1,39%4
216 Ol At==¢& 10,000 11,394 A1,394
216-01 330U S0t 8,000 11,394 A3,3%
0330z Okt
8,000,000& = 8,000
216-02 X230 Kt 2,000 0 2,000
O8A=2 OlXr=&
2,000,000& = 2,000
220 AN L= 5,000 5,000 0
224 DIEt=¢ 5,000 5,000 0
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oAl &g Biea & S
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= 2 g A 866,981 936,981 270,000
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Gl & Xb== 0 S0l &
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® XI=H=
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AN .22 . H. OF - HRAY - B ey | 29= | ypza
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I =MEEH 866,981 936,981 270,000
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OXHX2NY & X0 siis 100,000,000& = 100,000
HRES(F0IMET| 24 10t) 735,981 851,981 A 116,000
SEXNE(XEIIZ) 735,981 851,981 A116,000
=RFSPNES 735,981 851,981 A 116,000
602 GllXl= 735,981 851,981 A 116,000
01 ZEHuXl= 735,981 735,981 851,981 A116,000
OuxIZ 735,981,000& = 735,981
A = & A 866,981 936,981 270,000
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SIHAE
Ol A REZ=
SIHRE - ANED|2
(Etol:® )
XN o
Helz 2xX2 ez (BT A2 | OIK2YY | JIE2Y
HE® ’ (O EE) ofl & | Rt [SES
20164 DHXI 470,001 100,000 0 0 20,567 0 185, 156 164,278
20178 & 40,890 0 0 0 0 0 13,490 27,400
20188 & 30,987 0 0 0 0 0 12,591 18,396
2019 &= 34,924 0 0 0 0 0 15,059 19,865
2020 &= 18,011 0 0 0 0 0 16, 171 1,840
20218 & 16,3% 0 0 0 0 0 11,3% 5,000
20225 & 15,000 0 0 0 2,000 0 8,000 5,000
Al 626,207 100,000 0 0 22,567 0 261,861 241,779
(e &
X & o
= Xt o
o zd 16 HSXS | S |l | g2 042 J|E @-®
A H AMHl | L D123 | [2I24AE | [A2|248 | IS
2016 NHAI 35,316 15,316 20,000 0 0 0 0 434,685
20178 & 22,224 22,224 0 0 0 0 0 18,666
20188 & 24,155 24,155 0 0 0 0 0 6,832
20198 & 15,871 15,871 0 0 0 0 0 19,053
2020 &= 12,915 12,915 0 0 0 0 0 5,096
20218 & 85,000 35,000 50,000 0 0 0 0 68,606
20228 & 131,000 31,000 100,000 0 0 0 0 A 116,000
Al 326,481 156,481 170,000 0 0 0 0 299,726
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2020 CUB Y 2021 UBIHMU@ 2022 LB UED| S22 (O-@)
oIxI2 =& 920,587 851,981 735,981 A116,000
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Qo =
2. AI2S22H =
ST ¢ 2022
GlAR S @ =0A
TS  Lol=xII2
@O AAS=XEsZ CHel: ® 2l
4 2 W = 1 &8 A =
8 = | sUo |mEssow| I B = | USY | FEENsw| 2
ot 5] 570,909 880,584| 318,675 5] 570,909 809.584|  A318,675
d o 2 0 0 ol BN G 570,909 480,570 90,339
s 1 A
g x 3 0 0 of® & & 0 0 0
oo = 0 0 HNEEER 0 0 0
S X238 4
Z o e 0 0 071 = 7 bl 0 0 0
a5 = 0 0 ol = = 0 0 0
2 2 3 & SR=
ol % =2 8l = 567,469 883,163 4315604/ 01 X 2 0 409,014 A409,014
oo =
o & = 0 0 o8, 2,2 0 0 0
o & =
o Xt 4 3,440 6,421 r2.%1 % 2 48 0 0 0
B &Y 0 0 0|71 & W = 0 0 0
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SAHAE 20224
Ol &b Xb== 0 20l &t
AFRE  LA=EXIIS

® +2s
(el &)
.opo-s s | S5a | =2 4By
200 M2l 3,440 6,421 A2,981
210 ZHEAN L= 3,440 6,421 A2,981
216 Ol Kt==¢& 3,440 6,421 A2,981
216-01 230301 A=+ 3,440 6,421 A2,981
033032 0l
3,440,000& = 3,440
700 Ed+2ASLUHEH N 567,469 883,163 A315,6%4
710 EdUS 567,469 883,163 A315,694
714 WX 232 = 567,469 883,163 A315,6%4
714-01 Ol Xl = &l == 567,469 883,163 A315,694
ouxz 2=
567,469,000& = 567,469
= o g A 570,909 889,584 A318,675
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SAHAZ 20224
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RN .22 B - 9 - ARAY - BAS new | fon | was2
S OIFON Rt 570,909 889,584 A318,675
ASI= XL Bt 570,909 889,584 A318,675
AM2I=X S& 570,909 480,570 90,339
LoIsXDIE KNA(LL=X1012) 570,909 480,570 90,339
Lolwa 29 171,200 120,060 51,140
307 QI2HO|A 171,200 120,060 51,140
11 AMIEXAIEEE 171,200 171,200 120,060 51,140
OEMslE Lolnal 2| XA BGML) 94,560, 000& 94,560
OTMsHE WA F 0428 XI&(3IHA) 14,640,000& 14,640
OMRLISX g2 228 29 62,000,000& = 62,000
Lol XI& 150,910 150,910 0
307 QIHoIA 150,910 150,910 0
03 CRIXEHE2HHIEx 150,910 150,910 150,910 0
OL0ls 2ZH| X 38,664,000 38,664
OLLININ=EXAIE 2ERIA 69,046,000 69,046
OkQls sHE 23 a=Hl N
150,000 x14Z«12& 25,200
OLk2lg Xz &=l
1,500,000& 12 18,000
LolAzEe D K& 248,799 209,600 39,199
201 LBH2HH| 20,000 18,000 2,000
01 AFR2teltl 10,000 10,000 8,000 2,000
o0ZzY HIS7Y 10,000,000& 10,000
02 2329gHl 10,000 10,000 10,000 0
oLolAZ&EI7 KAl 200, 000& *50 7 2~ 10,000
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A = & A 570,909 889,584 A318,675
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S
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Al 4,458,443 |  4,409,9% 0 0 0 NT82,628
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ao =
ST ¢ 2022
A RIA  20IA
TS YNBEIIZ
O RN ot )
s 2 A = 1 s A =
8 = | 4S9 |mEssow| I B = | USY | FEENsw| 2
ot | 1,034.99 1,046,178 A, 179| & | 1,084,909 1,046,178 A, 179
d o 2 0 0 ol BN G 50,000 45,000 5,000
s X &
g = 2 0 0 0 ﬁ A 0 0 0
oo = 0 0 0ol 2t 2 oy 0 0 0
s %3234
o) 0 0 0|21 = 7 bl 0 0 0
a5 = 0 0 ol = = 0 0 0
2 2 3 & = s
ol % 23 2|  1,009,13| 1,045,368 ~r%6.20/ 01 X2 984,99 1,001,178 A6, 179
oo =
o & = 0 0 o8, 2.2 0 0 0
A
o X 4 ¢ 25,860 810 25,00 % o = 5 5 0 0 0
o g £ 0 0 0|71 & W = 0 0 0
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SAHAE 20224
Ol &b Xb== 0 20l &t
HRE  dHESIIS

@ = H=

(et &)
.28 .2 20l oH ?EOEH s & & U o
M
200 A< 25,860 810 25,050
210 ZHHAM e+ 25,860 810 25,050
216 Ol Xt==¢ 25,860 810 25,050
216-01 S30S0IXt=+=¢< 25,860 810 25,050
O&s=0= 0lkt=+=g
25,860,0008 = 25,860
700 BES+ASLUE N 1,009,139| 1,045,368 236,229
710 BXUS 1,009,139| 1,045,368 136,229
714 GIXI33 % 1,009,139| 1,045,368 N36,229
714-01 GRSl = 1,009,139| 1,045,368 236,229
OXl=2l =+
1,009, 139,0002 = 1,009, 139
= 2 8 A 1,034,999 1,046,178 A1,179
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SIHHE - 2022E
Ol &b Xb== 0 20l AF
AAFRE  LHESIIS
® XI=H&
SERCED
AN .22 . HY. 09 - ASAY - B new | S9F | yazz
Xl & o
HEIt=1 1,034,999 1,046,178 A11,179
INEIE=PNR=R=ls 1,034,999 1,046,178 211,179
He=Xsd 50,000 45,000 5,000
AHHSIIS(LEHSIS) 50,000 45,000 5,000
LHESIIS 50,000 45,000 5,000
307 SI2t0I& 50,000 45,000 5,000
11 AM=XAIEEXR 50,000 50,000 45,000 5,000
OLLES L A AZIEO =AY 50,000,000& = 50,000
HERES(04II=1) 984,999 1,001,178 A16,179
SBEIE(XLEHSIIZ) 984,999 1,001,178 A16,179
SBNXE 984,999 1,001,178 A16,179
602 O X3 984,999 1,001,178 A16,179
01 LBHOIXIZ 984,999
ouxa 984,999,000& = 984,999
o g A 1,034,999 1,046,178 A11,179
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SHAE @ 20224
Ol &EXb= 0 201 &
AT HHSII2
(2 H @)
e
= = [=) T
H@ s 2x2 NS | oxme Ol Xt4=2 | JIEH:Y
20163 DX 1,383,458 1,000,000 0 0 383,198 260
201749 % 16, 184 0 0 0 16,184 0
201849 & 14,968 0 0 0 0 14,968 0
20199 & 17,288 0 0 0 0 17,288 0
202049 & 20,019 0 0 0 20,019 0
20219 & 192 0 0 0 192 0
2022E &= 25,860 0 0 0 0 25,860 0
Hl 1,477,969 1,000,000 0 0 0 477,709 260
(B9l &H2)
Z 8 o
= Xt o
L= G HSAE | 8X4 |ozey xels Il & @-®
AL HI AFIHl |2 D123 | /22 Ats A | NS
20164 DX 304,461 304,461 0 0 0 1,078,997
20179 % 15,000 15,000 0 0 0 1,184
20189 & 28,000 28,000 0 0 0 213,032
20199 & 30,000 30,000 0 0 0 A12,712
2020¥ &= 30,000 30,000 0 0 0 A9,981
20219 & 37,040 37,040 0 0 0 A36,848
20229 & 50,000 50,000 0 0 0 224,140
Hl 494,501 494,501 0 0 0 983,468
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20209 LS Y | 2021H LB IHN@ | 20223 SLSHTHUD 52 (@-@)
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SIAHAE 20224
Ol &EXb= 0 201 &
SIAFE - HHE2II=
OIPNT=EPAE--+—
SR
- 1 B M =
& = | 4% |mussee| Z 2 o8 = | NSY | MucKsw| = 2
= A 1,770,554 884,000 886,554 | & | 1,770,554 884,000 886,554
BH 8 O 4
| =l = 796,000 753,000 43,000 A o1 i 280,000 250,000 30,000
g X &
= b s ) = (=]
g BN = 0 0 0 A o H] 0 0 0
Xt = =) 0 0 0 12 &8 =294l 0 0 0
X2+ o o
(Ol &t = &) 0 0 0171 2 & 0 0 0
ol & =)
2 =2 5 = 0 0 0 |0l & = 0 0 0
ol Xl =2 3 = 968,554 121,000 847,554 | Gil Xl = 1,440,554 634,000 806,554
. - ooy 2
ol = = 0 0 0 22 = A 8 0 0 0
o o & =2
o & = g 6,000 10,000 24,000 23 = A s 0 0 0
JIE = g 0 0 0|21 & XN = 50,000 0 50,000
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SIAHHE - 2022
Ol &b Xb== 0 20l &F
SIARZE 2202

@ +2s
(SHe: & &)
3.o28-= soa | PEE s o &E Y
2ol
200 M2l 6,000 10,000 24,000
210 ZHEAN L= 6,000 10,000 24,000
216 O Xt=¢& 6,000 10,000 24,000
216-01 S S W S0 K=& 6,000 10,000 24,000
0302 0l A=+
60,000,000& = 6,000
700 BEd-LSLURHH 1,764,554 874,000 890,554
710 Ed+2S 968,554 121,000 847,554
714 OIXI 23l 968,554 121,000 847,554
714-01 O XI = &l = 968,554 121,000 847,554
OUWXl= &=
968,554,000& = 968,554
720 LHSHcH 796,000 753,000 43,000
721 M3 796,000 753,000 43,000
721-03 J|EtS| AN L S 796,000 753,000 43,000
OLetsIHEL S
796,000,000& = 796,000
= 2o g A 1,770,554 884,000 886,554
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SIAHAE - 20224
Ol &FXF== @ 2 0il &t
IARE - M2
® XN&H=
CLE-ED
FE. 2. B O HIRAY - B nee | SEE | uapsa
nso!
THEHORM 1t 1,770,554 884,000 886,554
THEHTH - QI 1,770,554 884,000 886,554
THtorM 2| 280,000 250,000 30,000
2 DIz (et2teld13) 280,000 250,000 30,000
Mt2te| D13 280,000 250,000 30,000
201 B2 80,000 50,000 30,000
01 AtR2teld] 80,000 80,000 50,000 30,000
onM-tue g2 ¥ A+ 45,000,000& = 45,000
oN-tie 2==+ &EHl Xt 25,000,000& = 25,000
OMHHE THHAHEHB =R 29 S 10,000,000& = 10,000
401 AlEHIZL 048I 200,000 200,000 0
01 AI&HI 200,000 200,000 200,000 0
oM & S=55+ 200,000,000& = 200,000
MHRE S (THLoHE ) 1,490,554 634,000 856,554
SEXE(MH221Z) 1,490,554 634,000 856,554
=RFSPNES 1,490,554 634,000 856,554
602 GIXl= 1,440,554 634,000 806,554
01 EHHIXI= 1,097,354 1,097,354 410,200 687,154
OLEHHIXIZ 1,097,354,000& = 1,097,354
02 2=R0HXI= 343,200 343,200 223,800 119,400
O2AR0XI= 343,000,000& = 343,200
802 Bret=DIE 50,000 0 50,000
02 Al -&EHIExStEtets 50,000 50,000 0 50,000
OZHIEXZ gtatza 50,000,000& = 50,000
Aos g A 1,770,554 884,000 886,554
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202189 1,140,132 1,100,000 0 0 0 0 40,132 98,868
2022E 330,000 280,000 0 0 0 0 50,000 472,000
Al 23,347,425 22,234,516 0 183,797 0 0 929,112 318,352
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